—=/ VALTIR

QUEST" CEN

CRASH CUSHIONS

PN 115274

DECEMBER 2022




QUEST® CEN

Product Description
Assembly Manual

15601 Dallas Parkway
Suite 525
Addison, Texas 75001

Warning: The local highway authority, distributors, owners, contractors,
lessors, and lessees are RESPONSIBLE for the assembly, maintenance, and
repair of the QUEST® CEN. Failure to fulfill these RESPONSIBILITIES with
respect to the assembly, maintenance, and repair of the QUEST® CEN could
result in serious injury or death.

Important: These instructions are for standard assembly specified by the
appropriate highway authority. In the event the specified system assembly,
maintenance, or repair would result in a deviation from these assembly
instructions, contact the appropriate highway authority engineer.

This manual must be available to the worker overseeing and/or assembling the product at
all times. For additional copies, contact Valtir directly at (888) 323-6374 or visit Valtir.com.

The instructions contained in this manual supersede all previous information and manuals. All
information, illustrations, and specifications in this manual are based on the latest QUEST® CEN
information available to Valtir at the time of printing. We reserve the right to make changes at any
time. Please contact Valtir to confirm that you are referring to the most current instructions.

QUEST® s a registered trademark of Valtir, LLC. Part No. 115274
© Valtir, LLC
Valtir.com 1 Revision F December 2022


file://CAROCPHWYENGS10/Engineering$/Applications/Projects/Manual%20Production/Current%20Projects/ECO%206338%20QUEST%20CEN/www.trinityhighway.com%20
https://www.valtir.com/

Table of Contents

Customer Service CONTACES .......uuiiiiiiiiiiii e e e e s e e e e e e e e neeeeees 3
Important INtrodUCtOry NOEES ... e 3
Safely SYMDOIS ... e e 4
Safety RUIES fOr ASSEMDIY ........uiiiiiiiii e e e e e e e e e e e e e e e e eaaeas 4
[ a1 =Y o] S T= T T A= T oY1 T 1 RPN 5
10T oT=To1 ] a1 o] o] 1 o TP 5
SYSTEM OVEIVIEW ....vviiiiiiiiiiiiiiiiiiiiei e e e e s aaeseaasaaasaaaaaaaaaaaaaaaaaaaseens 6
QUEST CEN FaSIENEIS ......eiiiieeiiiiee ettt e e e e e e e e e et a e e e s eeeeannnneeas 14
PiICtOrial ASSEMIDIY ......ci ittt e e e e e e e e ees 17
Site Preparation/FOUNdation ... 36
Special Site CONItIONS ... 37
Other Factors That May Affect YOUr DeSIgn ........ccouiiiiiiiiiiiiiiicee e 38
ASSEMDIY PrOCEAUIES ......ceiiiiiiiiiiite ettt e et e e e e e e et e e e e e e e e e 38
BidireCtional TraffiC........ooiiii i e e e e e e e e e 41
Connection and Side Pan€l TYPES ... ..t 42
Tl (=T P= g Lot Y O g 1= Yo 41 43
Visual Drive-By INSPECHION .......coviiiiii e e e 43
LA =11 L o T [ < 014 0] o 43
Lo o [ ] o= Lo [ 1= (4 0T34 [ o 1 44
(= Toto] a1 T=Y gl L= I 1o To ] - R 44
POSt IMPACt ProCEAUIES........oviieie e e e e e e e e e e 45
T EST O 0 =T 1T PR PPRPPR 45
QUEST® CEN 80 SYSTEM  TD80OCENGBTOCU.......ccuvieiiiieeiiie e 46
QUEST® CEN 100 SYSTEM  TD100CENBTOCU ......ccocviiiiiiieeciiieeciee e 47
QUEST® CEN 110 SYSTEM  TD110CENBTOCU ......oeoiiiiiiiiie e 48
QUEST® CEN 80 ASSEMBLY 813485 .....ccueeieeeeeeeeee et 49
QUEST® CEN 100 ASSEMBLY 813483 .....ooiiioiieeeiee ettt 51
QUEST® CEN 110 ASSEMBLY 613484 ..ot 53
FOUNDATION (ASPHALT)  3562007-0000.........ccuumiiiieeeiiiiiiiniieieeeeeeeesennreeeee e e e e e e ssnnenees 55
FOUNDATION (CONCRETE) 3562007-0000 ........ccctttiieiiiiiiiiiiieeeeeeeesseiireeeeeeeeeeesnneenees 56
DIAPHRAGM ASSEMBLY 807196 ......ceiiiieiiieeeeeeesciiieeeee e e e e et e e e e e e e e ennnreeeeeeaeeeeanns 57
SUPPORT FRAME ASSEMBLY  B15467 .....eeiiiiiiiee et 58
TRIGGER ASSEMBLY 616212 .ceeieiiiieeee ettt ettt e e e e e e e e e e e e nnnnneeeeaaens 59
CONCRETE PAD  3562018-0000.......ccccetiiiiiiiieeieeeeeeeaiiiiieeeeaaeeeeseenseeeeeeeaeeseaannnnneeeeaeeens 60

Valtir.com 2 Revision F December 2022


https://www.valtir.com/

Customer Service Contacts

Valtir is committed to the highest level of customer service. Feedback regarding the QUEST®
CEN, its assembly procedures, supporting documentation, and performance is always welcome.
Additional information can be obtained from the contact information below:

Valtir
Telephone +1 (214) 589-8140 (International)
Contact Link Valtir.com/Contact

Important Introductory Notes

Proper assembly of the QUEST® CEN is critical to achieve performance that has been evaluated
and accepted per EN 1317-3. These instructions should be read in their entirety and understood
before assembling the QUEST® CEN. These instructions are to be used only in conjunction with
the assembly of the QUEST® CEN and are for standard assemblies only as specified by the
applicable highway authority If you need additional information, or have questions about the
QUEST® CEN, please contact the highway authority that has planned and specified this assembly
and, if needed, contact Valtir Customer Service. This product must be assembled in the location
specified by the appropriate highway authority. If there are deviations, alterations, or departures
from the assembly instructions specified in this manual, the device may not perform as tested.

Important: DO NOT use any component part that has not been specifically
specified herein for the QUEST® CEN (p. 8). Failure to follow this warning could
result in serious injury or death in the event of a collision.

This product has been specified for use by the appropriate highway authority and has been
provided to that user who has unique knowledge of how this system is to be assembled. No
person should be permitted to assemble, maintain, or repair this system that does not possess
the unique knowledge described above. These instructions are intended for an individual qualified
to both read and accurately interpret them as written. These instructions are intended only for an
individual experienced and skilled in the assembly of highway products that are specified and
selected by the highway authority.

Warning: Do not assemble, maintain, or repair the QUEST® CEN until you have
read this manual thoroughly and completely understand it. Ensure that all Danger,
Warning, Caution, and Important statements within the manual are completely
followed. Please call Valtir if you do not understand these instructions. Failure to
follow this warning could result in serious injury or death in the event of a collision.

Valtir.com 3 Revision F December 2022


https://www.valtir.com/
https://www.valtir.com/contact

Safety Symbols

This section describes the safety symbols that appear in this manual. Read the manual for
complete safety, assembly, operating, maintenance, repair, and service information.

Symbol

Meaning

Safety Alert Symbol: Indicates Important, Caution, Warning, or Danger. Failure
to read and follow the Important, Caution, Warning, or Danger indicators could
result in serious injury or death to the workers and/or bystanders.

Warning: Read safety instructions thoroughly and follow the assembly directions
and suggested safe practices before assembling, maintaining, or repairing the
QUEST® CEN. It is the responsibility of the installer to follow these warnings.

Important: Please keep up-to-date instructions for later use and reference by
anyone involved in the assembly of the product.

Safety Rules for Assembly

* Important Safety Instructions *

This manual must be kept in a location where it is readily available to persons who assemble,
maintain, or repair the QUEST® CEN. Additional copies of this manual are available from Valtir
by calling +1 (214) 589-8140 or visiting Valtir.com/contact. Please contact Valtir if you have any
questions concerning the information in this manual or about the QUEST® CEN.

Valtir.com

Important: It is the responsibility of the installer to use appropriate safety
precautions when operating power equipment, using chemicals, and when moving
heavy equipment or QUEST® CEN components. Safety articles including but not
necessarily limited to work gloves, eye/ear protection, safety-toe shoes, and back
support should be used.

Warning: It is the responsibility of the installer to use all safety measures
incorporating appropriate traffic control devices specified by the highway authority.
These measures must be used to protect all personnel while at the assembly,
maintenance, or repair site. Contact the specifying highway authority immediately
if you have any questions regarding a particular system assembly site.

Warning: ltis the responsibility of the installer to ensure the QUEST® CEN is not

modified in any way. Failure to follow this warning could result in serious injury or
death in the event of a collision.

4 Revision F December 2022


https://www.valtir.com/
https://www.valtir.com/contact

Limitations and Warnings

The QUEST® CEN has been evaluated in accordance with European Standard EN 1317-3. The
impact conditions tested are intended to represent a wide range of in-service impact conditions.

Impact conditions which differ from those described in European Standard EN 1317-3 may yield
results different from those encountered in testing. In particular, impact conditions in excess of
specified impact severity, or existence at the site of curbs or cross-slopes in excess of 8%, may
yield impact performance which does not meet the evaluation criteria of European Standard EN
1317-3.

Valtir expressly disclaims any warranty or liability for injury or damage to persons or property
resulting from any impact, collision or harmful contact with products, other vehicles, or nearby
hazards or objects by any vehicle, object or person, whether or not the products were assembled
in consultation with Valtir or by third parties.

The QUEST® CEN is intended to be assembled, delineated, and maintained within specific state
guidelines. It is important for the highway authority specifying the use of a highway product to
select the most appropriate product configuration for its site specifications. The customer should
be careful to properly select, assemble, and maintain the product. Site lay out, vehicle population
type; speed, traffic direction, and visibility are important elements that require evaluation in the
selection of a highway product. For example, curbs could cause an untested effect on an
impacting vehicle.

After an impact occurs, the debris from the impact should be removed from the area immediately
and the specified highway product should be evaluated and restored to its original specified
condition or replaced as the highway authority determines as soon as possible.

Warning: Do not assemble, maintain, or repair the QUEST® CEN until you have
read this manual thoroughly and completely understand it. Ensure that all Danger,
Warning, Caution, and Important statements within the manual are completely
followed. Please call Valtir if you have any questions (p.3).

Inspect Shipping

Before deploying the QUEST® CEN, check the received parts against the shipping list supplied
with the system. Make sure all parts have been received.

Important: The Manufacturer's Drawing Package supplied with the QUEST®
CEN take precedence over these general instructions and must be used for proper
assembly.

Valtir.com 5 Revision F December 2022


https://www.valtir.com/

System Overview

The QUEST® CEN is a potentially reusable, re-directive, non-gating crash cushion intended for
hazards up to 610 mm (24") in width. The Steel Backup is designed to be placed against and nest
around the hazard, resulting in a shorter overall assembly length. What constitutes a potentially
reusable highway product should only be determined by a trained engineer experienced in
highway products, directed by the appropriate highway authority.

Figure 1 QUEST® CEN

System Model No. Performance Level (kph)
QUEST® CEN 110 613484B 110
QUEST® CEN 100 613483B 100
QUEST® CEN 80 613485B 80

Warning: Use only Valtir parts that are specified herein for the QUEST® CEN for
assembling, maintaining, or repairing the QUEST® CEN. Do not utilize or otherwise
comingle parts from other systems even if those systems are other Valtir systems.
Such configurations have not been tested, nor have they been accepted for use.
Assembly, maintenance, or repairs using unspecified parts or accessories is
strictly prohibited. Failure to follow this warning could result in serious injury or
death in the event of a vehicle impact with an UNACCEPTED system.

Valtir.com 6 Revision F December 2022


https://www.valtir.com/

QUEST® CEN 110

Model No. TD110CEN610

PARTS LIST TD110CEN610
ITEM STOCK NO. DESCRIPTION
604647G BACKUP,24,QUEST®,G
615467B SUPPORT FRAME ASSY, QUEST®,DCM
614029G SHAPER RAIL,L,QUEST® CEN,G
614035G SHAPER RAIL,R,QUEST®,G
617605G ANCHOR,FRONT,QUEST®,G
616230G TRIGGER STRAP,QUEST®,G
616212B TRIGGER ASSY,QUEST®,G,PT
611642G NOSE TRANSITION,R,QUEST®,G,PT
611641G NOSE TRANSITION,L,QUEST®,PT
611678G NOSE,QUEST®,G,PT
6071968 DIAPHRAGM ASSY,QUEST® CEN
614042G SHAPER,BACKUP,QUEST®,G
613662G REAR RAIL,QUEST®,G
614733B STRAP,PEEL,REAR,QUEST® CEN
6147288 STRAP,PEEL,BAY 2,QUEST® CEN
614732B STRAP,PEEL,BAY 3,QUEST® CEN
608415G FLT ST, 1/4X2 13/16X10 7/16CW/HOLES,G
608513G FLT ST 1/4X4X14,W/SLOTS,G
611792G PANEL,BAY 1,QUEST®,G
611796G PANEL,BAYS,QUEST®,DCM,G
605343G BRACE,PANEL,QUEST® CEN,G
116933B SCREW,PN,#6-32X1 1/2,PHIL,S
617005G WASHER,BAR,1/8X1 1/4X2,ROUNDED,G
003300G WASHER,FLAT,5/8 X 1 3/4,G
117987B WASHER,FLAT #6X5/8X,030,S
617010G WASHER,BAR,2X2X1/4,G
118030G WASHER,FLAT,3/8 ID X 13/16 OD,P,HRD

o
—
<

NI N R I S N NN N NN N R R R R N IR YRS

003340G NUT,HEX,5/8,G,RAIL 78
1159098 NUT,HEX,#6-32,S 24
003704G NUT,HEX,3/4”,GR DH 12

115931G NUT,HEX,1,G

115960G NUT,HEX,3/8,G

113553G BOLT,HEX,3/4X2,G5,G

113538G BOLT,HEX,1X5 ,G8,G

113530G BOLT,HEX,1X3 1/2,G5,G

113654G BOLT,HEX,5/8X1 1/2,G5,G

113558G BOLT,HEX,3/4X3 1/2,G5,G

113596G BOLT,HEX,3/8X1,G5,G

113568G BOLT,HEX,3/4X4,G5,G,ALL THRD
114461B DECAL,CAUTION, ALL PRODUCTS
116758G RIVET,ST,SD68BS,3/15X1/2,DH
114591B DECAL,PRODUCT,QUEST®
1152748 ASSEMBLY MANUAL, QUEST® CEN
115674B MATERIAL SAFETY INFORMATION NOTICE
003400G BOLT,RAIL,5/8X2,G

114490B DECAL,CE,QUEST® CEN,100/110
614533B SPACER,RAIL TENSION,QUEST®
118027G WASHER,FLAT,3/4X2,HVY,G

B [B|D[BIA|DAIS|A]Dw]|w|w|w]|w|w|w]|w[RNNNIN NN NN R[22 a2 a2 22 2 g lo oo e oo lro |
olo|m|N|o|g|Rw|N=|o|o|k|N|® | gN|= S|’ o |N o |0 S| RIN|=[O|o|o|N|o|als|wivd|= o

Valtir.com 7 Revision F December 2022


https://www.valtir.com/

QUEST® CEN 100

Model No. TD100CEN610

PARTS LIST TD100CEN610
ITEM STOCK NO. DESCRIPTION
604647G BACKUP,24,QUEST®,G
615467B SUPPORT FRAME ASSY, QUEST®,DCM
614029G SHAPER RAIL,L,QUEST® CEN,G
614035G SHAPER RAIL,R,QUEST®,G
617605G ANCHOR,FRONT,QUEST®,G
616230G TRIGGER STRAP,QUEST®,G
616212B TRIGGER ASSY,QUEST®,G,PT
611642G NOSE TRANSITION,R,QUEST®,G,PT
611641G NOSE TRANSITION,L,QUEST®,PT
611678G NOSE,QUEST®,G,PT
607196B DIAPHRAGM ASSY,QUEST® CEN
613663G REAR RAIL,QUEST®,UNCRIMPED,G
614733B STRAP,PEEL,REAR,QUEST® CEN
614728B STRAP,PEEL,BAY 2,QUEST® CEN
614732B STRAP,PEEL,BAY 3,QUEST® CEN
608415G FLT ST, 1/4X2 13/16X10 7/16CW/HOLES,G
608513G FLT ST 1/4X4X14,W/SLOTS,G
611792G PANEL,BAY 1,QUEST®,G
611796G PANEL,BAYS,QUEST®,DCM,G
605343G BRACE,PANEL,QUEST® CEN,G
116933B SCREW,PN,#6-32X1 1/2,PHIL,S
617005G WASHER,BAR,1/8X1 1/4X2,ROUNDED,G
003300G WASHER,FLAT,5/8 X 1 3/4,G

o
mmgmmwwmmwwmw—\é—\—\w—xé_\é_\j

117987B WASHER,FLAT #6X5/8X,030,S 24
617010G WASHER,BAR,2X2X1/4,G 2
118030G WASHER,FLAT,3/8 ID X 13/16 OD,P,HRD 48
003340G NUT,HEX,5/8,G,RAIL 78
1159098 NUT,HEX,#6-32,S 24
003704G NUT,HEX,3/4”,GR DH 10

115931G NUT,HEX,1,G

115960G NUT,HEX,3/8,G

113553G BOLT,HEX,3/4X2,G5,G

113538G BOLT,HEX,1X5 ,G8,G

113530G BOLT,HEX,1X3 1/2,G5,G

113654G BOLT,HEX,5/8X1 1/2,G5,G

113558G BOLT,HEX,3/4X3 1/2,G5,G

113596G BOLT,HEX,3/8X1,G5,G

113568G BOLT,HEX,3/4X4,G5,G,ALL THRD
114461B DECAL,CAUTION, ALL PRODUCTS
116758G RIVET,ST,SD68BS,3/15X1/2,DH
114591B DECAL,PRODUCT,QUEST®
1152748 ASSEMBLY MANUAL, QUEST® CEN
115674B MATERIAL SAFETY INFORMATION NOTICE
003400G BOLT,RAIL,5/8X2,G

114490B DECAL,CE,QUEST® CEN,100/110
614533B SPACER,RAIL TENSION,QUEST®
118027G WASHER,FLAT,3/4X2,HVY,G

QB A LA B D A (OO W W W W WIWININININININININININ | = sl a g Gl o[ B oo [N =
QOO NON[BAWINI=2OO[INODNIN=2 OO NOORWINI_OO(INO|OA WO

(I TR I BN N N BN R N N DN IS EN NN

Valtir.com 8 Revision F December 2022


https://www.valtir.com/

QUEST® CEN 80

Model No. TDS8OCENG610

PARTS LIST TD80CEN610
ITEM STOCK NO. DESCRIPTION
604647G BACKUP,24,QUEST®,G
615467B SUPPORT FRAME ASSY, QUEST®DCM
614027G SHAPER RAIL,L,QUEST® CEN 80,G
614033G SHAPER RAIL,R,QUEST® CEN 80,G
617605G ANCHOR,FRONT,QUEST®,G
616230G TRIGGER STRAP,QUEST®,G
616212B TRIGGER ASSY,QUEST®,G,PT
611642G NOSE TRANSITION,R,QUEST®,G,PT
611641G NOSE TRANSITION,L,QUEST®,PT
611678G NOSE,QUEST®,G,PT
607196B DIAPHRAGM ASSY,QUEST® CEN
613663G REAR RAIL,QUEST®,UNCRIMPED,G
614733B STRAP,PEEL,REAR,QUEST® CEN
614728B STRAP,PEEL ,BAY 2,QUEST® CEN
608415G FLT ST, 1/4X2 13/16X10 7/16CW/HOLES,G
608513G FLT ST 1/4X4X14,W/SLOTS,G
611792G PANEL,BAY 1,QUEST®,G
611796G PANEL,BAYS,QUEST®,DCM,G
605343G BRACE,PANEL,QUEST® CEN,G
116933B SCREW,PN,#6-32X1 1/2,PHIL,S
617005G WASHER,BAR,1/8X1 1/4X2,ROUNDED,G
003300G WASHER,FLAT,5/8 X 1 3/4,G
117987B WASHER,FLAT #6X5/8X,030,S
617010G WASHER,BAR,2X2X1/4,G
118030G WASHER,FLAT,3/8 ID X 13/16 OD,P,HRD

Wny = 9'
M A S N N N N R A N e .

003340G NUT,HEX,5/8,G,RAIL 60
1159098 NUT,HEX#6-32,S 16
003704G NUT,HEX,3/4”,GR DH 10

wlw(w|w|w N[NNI NN 22 a2 a2
S| N2 D0 |0 || OR[N = (Do |o|N o |B || = [o|@ (PN 0| O B e N =~

115931G NUT.HEX,1,G 2
115960G NUT,HEX,3/8,G 16
113553G BOLT,HEX,3/4X2,G5,G 4
113538G BOLT,HEX,1X5 ,G8,G 2
37 113530G BOLT,HEX,1X3 1/2,G5,G 2
38 113654G BOLT,HEX,5/8X1 1/2,G5,G 6
39 113558G BOLT,HEX,3/4X3 1/2,G5,G 2
40 113596G BOLT,HEX,3/8X1,G5,G 16
41 113568G BOLT,HEX,3/4X4,G5,G,ALL THRD 2
42 114461B DECAL,CAUTION, ALL PRODUCTS 1
43 116758G RIVET,ST,SD68BS,3/15X1/2,DH 1
44 114591B DECAL,PRODUCT,QUEST® 1
45 1152748 ASSEMBLY MANUAL, QUEST® CEN 1
46 1156748 MATERIAL SAFETY INFORMATION NOTICE 1
47 003400G BOLT,RAIL,5/8X2,G 54
48 114491B DECAL,CE,QUEST® CEN,80 1
49 614533B SPACER,RAIL TENSION,QUEST® 2
50 118027G WASHER,FLAT,3/4X2,HVY,G 2

Valtir.com 9 Revision F December 2022


https://www.valtir.com/

ITEM 1

604647G BACKUP,610 mm/24”,QUEST®,G (1)

ITEM 2

6154678 SUPPORT FRAME ASSY,610 mm/24”,
QUEST® (1)

ITEM 3

614027G SHAPER RAIL,L, QUEST® CEN 80/ (1)
or

614029G SHAPER RAIL,L, QUEST® CEN 100/ (1)
or

614029G SHAPER RAIL,L, QUEST® CEN 110/ (1)

ITEM 4

614033G SHAPER RAIL,R,QUEST® CEN 80/ (1)
or

614035G SHAPER RAIL,R,QUEST® CEN 100/ (1)
or

614035G SHAPER RAIL,R,QUEST® CEN 110/ (1)

ITEM 5

617605G ANCHOR,FRONT,QUEST®,610 mm/24",G (1)

Valtir.com 10 Revision F December 2022


https://www.valtir.com/

ITEM 6

616230G TRIGGER STRAP,QUEST®,G, (1)

ITEM 7

616212B TRIGGER ASSY,610 mm/24”,QUEST® (1)

ITEM 8

611642G NOSE TRANSITION,R,QUEST®,G,PT (1)

ITEM9

611641G NOSE TRANSITION,L,QUEST®,G,PT (1)

ITEM 10

611678G NOSE,QUEST®,G,PT (1)

Valtir.com 1 Revision F December 2022


https://www.valtir.com/

ITEM 11

6071968 DIAPHRAGM ASSY,610 mm/24”,QUEST®
QUEST® CEN 80 (1)
QUEST® CEN 100 (2)
QUEST® CEN 110 (2)

ITEM 12

614042G SHAPER,BACKUP,QUEST®,G (2)
QUEST® CEN 110 (only)

ITEM 13

613663G REAR RAIL,QUEST® UNCRIMPED,G (2)
QUEST® CEN 80
QUEST® CEN 100

613662G REAR RAIL,QUEST®, G (2)
QUEST® CEN 110

ITEM 14

614733B STRAP,PEEL,REAR,QUEST® (2)

ITEM 15

614728B STRAP,PEEL,BAY 2,QUEST® (2)

ITEM 16

614732B STRAP,PEEL,BAY 3,QUEST®
QUEST® CEN 100 (2)
QUEST® CEN 110 (2)

Valtir.com

12 Revision F December 2022


https://www.valtir.com/

ITEM 17

608415G FLT ST 1/4X2 13/16X10 7/16,W/HOLES,G (2)

ITEM 18

608513G FLT ST 1/4X4X14,W/SLOTS,G (2)

ITEM 19

611792G PANEL,BAY 1,QUEST®,G (2)

ITEM 20

611796G PANEL,BAYS,QUEST®,G
QUEST® CEN 80 (4)
QUEST® CEN 100 (6)
QUEST® CEN 110 (6)

ITEM 21

605343G BRACE,PANEL,QUEST®,G
QUEST® CEN 80 (4)
QUEST® CEN 100 (6)
QUEST® CEN 110 (6)

ITEM 49

614533B SPACER,RAIL, TENSION,QUEST® (2)

Valtir.com

13 Revision F December 2022


https://www.valtir.com/

QUEST CEN Fasteners

ITEM 28

003340G NUT,HEX,5/8,G,RAIL
QUEST® CEN 80 (60)
QUEST® CEN 100 (78)
QUEST® CEN 110 (78)

ITEM 29

115909B NUT,HEX,6-32,S
QUEST® CEN 80 (16)
QUEST® CEN 100 (24)
QUEST® CEN 110 (24)

ITEM 30

003704G NUT,HEX,3/4,GR DH
QUEST® CEN 80 (10)
QUEST® CEN 100 (10)
QUEST® CEN 110 (12)

ITEM 31

115931G NUT,HEX,1,G (2)

ITEM 32

115960G NUT,HEX,3/8, G
QUEST® CEN 80 (16)
QUEST® CEN 100 (24)
QUEST® CEN 110 (24)

Valtir.com

14

Revision F December 2022


https://www.valtir.com/

ITEM 35

113553G BOLT,HEX,3/4X2,G5,G (4)

J | 113538G BOLT, HEX,1X5,G8,G (2)

ITEM 36

ITEM 37

113530G BOLT, HEX,1x3 1/2,G5,G (2)

ITEM 38

113654G BOLT, HEX,5/8X1 1/2,G5,G (6)

ITEM 39

113558G BOLT,HEX,3/4X3 1/2,G5, G
QUEST® CEN 80 (2)

QUEST® CEN 100 (2)

QUEST® CEN 110 (4)

Valtir.com

15

Revision F December 2022


https://www.valtir.com/

ITEM 40

113596G BOLT,HEX,3/8X1,G5,G
QUEST® CEN 80 (16)

QUEST® CEN 100 (24)

QUEST® CEN 110 (24)

ITEM 41

113568G BOLT, HEX,3/4X4,G5,G All Thread (2)

ITEM 47

003400G BOLT,RAIL,5/8X2,G
QUEST® CEN 80 (54)
QUEST® CEN 100 (72)
QUEST® CEN 110(72)

Valtir.com

16

Warning: Safety measures incorporating appropriate traffic control devices
specified by the highway authority must be used to protect all personnel while at
the assembly, maintenance, or repair site. Failure to follow this warning could
result in serious injury or death in the event of a collision. The traffic control plan
established by the highway authority must always be observed in assembling or
utilizing this product.

Warning: Ensure that there is proper site grading for QUEST® CEN placement
as dictated by the specifying agency.

Revision F December 2022



https://www.valtir.com/

Pictorial Assembly

Step 1

Valtir.com 17 Revision F December 2022


https://www.valtir.com/

Step 2

613505G RAIL GUIDES (4)
QUEST® CEN 80

L

¥613505G RAIL GUIDES (6)
QUEST® CEN 10{93;: 110

Valtir.com 18 Revision F December 2022


https://www.valtir.com/

Step 3 (QUEST® CEN 80)

O

ITEM 30 003704G NUT.HEX,3/4",GR DH (4)

ITEM 39 113558G BOLT,HEX,3/4X3 1/2,G5,G (4)

Valtir.com 19 Revision F December 2022


https://www.valtir.com/

Step 3 (QUEST® CEN 100 & 110)

ITEM 30 003704G NUT.HX,3/4”, GR DH (6)

] ITEM 39 113558G BOLT,HEX,3/4X3 1/2,G5,G (6)

Valtir.com 20 Revision F December 2022


https://www.valtir.com/

ITEM 37 113530G BOLT,HEX,1X3 1/2,G5,G (2)

ITEM 49 614533B SPACER,RAIL TENSION,QUEST® (2)

Valtir.com 21 Revision F December 2022


https://www.valtir.com/

QUEST® CEN 110

ITEM 30 003704G NUT,HEX,3/4,GR,DH (4)

QUEST® CEN 80 (10)
QUEST® CEN 100 (10)
QUEST® CEN 110 (12)

ITEM 39 113558G BOLT,HEX,3/4X3 1/2,G5,G (4)

QUEST® CEN 80 (2)
QUEST® CEN 100 (2)
QUEST® CEN 110 (4)

Valtir.com 22 Revision F December 2022


https://www.valtir.com/

Valtir.com

—

ITEM 30 003704G NUT,HEX,3/4,GR DH (4)

i

ITEM 35 113553G BOLT,HEX,3/4X2,G5,G (4)

Revision F December 2022


https://www.valtir.com/

Step 7

(I )

ITEM 22 116933B SCREW,PN, #6-32X1 1/2,PHIL,S (4)
\_/
ITEM 25 117987B WASHER,FLAT, #6X5/8X.030,S (8)
\\.__,_/.

ITEM 27 118030G WASHER.FLAT,3/8 ID X13/16 OD,P,HRD (16)

()
O
]

ITEM 28 003340G NUT,HEX,5/8,G,RAIL (18)

:

ITEM 29 115909B NUT,HEX, #6-32,S (8)

ITEM 32 115960G NUT, HEX,3/8,G (8)

O

ITEM 40 113596G BOLT, HEX,3/8X1,G5,G (8)

o

ITEM 47 003400G BOLT RAIL,5/8X2,G (18)

Valtir.com 24 Revision F December 2022


https://www.valtir.com/

Step 7 (CONT'D)

QUEST® CEN 80

QUEST® CEN 100

QUEST®

CEN 110

25 Revision F December 2022

Valtir.com


https://www.valtir.com/

Step 8 (QUEST® CEN 80, Skip this step)

(h )

ITEM 22 116933B SCREW, #6-32X1 1/2,PHIL,S (4)

©

ITEM 25 117987B WASHER,FLAT, #6X5/8X.030,S (8)

©

ITEM 27 118030G WASHER,FLAT,3/8 ID X 13/16 OD,P,HRD (16)

ITEM 28 003340G NUT,HEX,5/8,G,RAIL (18)
() H

ITEM 29 115909B NUT,HEX#6-32, S (8)

ITEM 32 115960G NUT,HEX,3/8,G (8)

O

ITEM 40 113596G BOLT,HEX,3/8X1,G5,G (8)

ITEM 47 003400G BOLT RAIL,5/8X2,G (18)

Valtir.com 26 Revision F December 2022


https://www.valtir.com/

Step 8 (CONT'D) (QUEST® CEN 80, Skip this step)

QUEST® CEN 110

Valtir.com 27 Revision F December 2022


https://www.valtir.com/

Step 9 (x2)

ITEM 27 118030G
WASHER, FLAT,3/8 ID
X13/16 OD, P, HRD (8)

ITEM 28 003340G
NUT,HEX,5/8,G,RAIL (2)

f N [ \

( -

L e \ J

| ITEM 32 115960G
NUT,HEX,3/8,G (4)

\\ ITEM 47 003400G
BOLT,RAIL,5/8X2,G (2)
T i
u | —
r_.—
s ITEM 40 113596G
BOLT,HEX,3/8X1,G5,G (4)
Valtir.com 28

Revision F December 2022


https://www.valtir.com/

Step 10

25
22
20
47 )
s .‘; '::r'
5%
18 _
o

2 r -

it : 'ﬁ (! 1.-

I ‘:\"H- = #

.-:”,;__ _ T gl ';'
S Lo %9
i ’._ -
-“" 55 116933B
2 SCREW,PN,#6-32X1 1/2,PHIL,S (4)
L
o > 117987B
WASHER.FLAT.#6X5/8X.030.S (8)
28 003340G
NUT,HEX,5/8,G,RAIL (12)

......... ns W 29 1159098

NUT,HEX,#6-32,S (8)

003400G
BOLT,RAIL,5/8X2,G (8)

Valtir.com 29 Revision F December 2022


https://www.valtir.com/

Step 11

'3

24 WASHER,FLAT,5/8X1 3/4,G (6)

28

Valtir.com

28

&

003300G

003340G

NUT,HEX,5/8,G,RAIL (12)

N

"

| ‘I-
.
(e =
47
19
24 i
38
47 003400G
BOLT.RAIL.5/8X2. G (6)
38 003380G

BOLT.HEX.5/8X1 1/2.G (6)

Revision F December 2022


https://www.valtir.com/

Step 12

ITEM 26 617010G
WASHER,BAR,2X2X1/4,G (2)

ITEM 30 003704G
_ NUT,HX,3/4”,GRDH (2)

\ﬂ

7N
N

\ i
L)
/

ITEM 41 113568G
.'/ BOLT,HX,3/4X4,G5,G,ALL THRD (2)

Valtir.com 31 Revision F December 2022


https://www.valtir.com/

Step 13

113538G BOLT,HEX,1X5,G8,G

7 X 1 n
T8 Y J J f \
\ ..- : I’I | ' []

Fom . | V[ \
/ --_:I_I\‘\H | | \Dj

R " ITEM 50 118027G WASHER, FLAT,3/4X2,HVY,G (2)
ITEM 31 115931G NUT,HEX,1,G (2)

Valtir.com 32 Revision F December 2022


https://www.valtir.com/

Step 14a

/ = —
(| BB |> !::'5"' \J | ‘
\Y
\\ = / v \f't-_ '_?{;
— o

ITEM 28 003340G NUT,HEX,5/8,G,RAIL ITEM 47 003400G BOLT,RAIL,5/8X2,G

Valtir.com 33 Revision F December 2022


https://www.valtir.com/

Step 14b

TEM 23 617005G

WASHER,BAR,1/8X1 1/4X2,ROUNDED,G (6)

ITEM 47 003400G
BOLT,RAIL,5/8X2,G (6)

ITEM 28 003340G
NUT,HEX,5/8,G,RAIL (6)

L |
g

Revision F December 2022

34

Valtir.com


https://www.valtir.com/

Step 14c

S — 1]
P Y I \
! = N\ [
P ——— N
{7 77X\
I I,':I.- W b |
| T 1R |
4 |I i ..! 1 |," |
1 '... \ -:::'I, 1 !
"\. A -, i / i
\ B /
\‘H e ____-"' -"{ l
".\""\-\._ ) ] _.-"-'.-: .'. _|I
CS | & S

ITEM 28 003340G
NUT, HEX, 5/8, G, RAIL (6)

Valtir.com

ITEM 23 617005G

WASHER,BAR,1/8X1 1/4X2,ROUNDED.G (6)

ITEM 47 003400G
"m\ 7| BOLT,RAIL,5/8X2,G (6)
f .~"| 'I;
wl |
,} f |
/ \ L
e R

35

Revision F December 2022


https://www.valtir.com/

Site Preparation/Foundation

Anchor the System

Cross-slope of assembled location shall not exceed 8% and not vary (twist) more than 2%
from front to back. A leveling pad may be required to meet these conditions. The anchors,
when assembled must have a pull out strength of 190 kN.

Test Parameters

The best overall measure of anchor performance is the anchor load capacity. Anchor load
capacity can be defined by testing static tensile and static shear strengths. Static tensile
strength is the maximum force sustained by an anchor when subjected to gradual increases
in loading at the exposed end of the anchor and applied in line along its axis. Static shear
strength is the maximum force sustained by an anchor when subjected to gradual increases
in loading applied at the base of the exposed end of the anchor and applied perpendicular to
its axis.

The tensile strength developed will be a function of the strength of the surface the anchor is
placed in. The embedment depth of the anchor can also affect the anchors tensile strength.

Tensile test of anchors chosen should be tested in compliance with ASTM E488 — Standard
Test Methods for Strength of Anchors in Concrete and Masonry Elements (Figure 2).

Recording Test Results

Three pull tests should be conducted on site when the anchoring conditions are different from
those described in the reference section of this document with the results recorded. Pictures
of the testing should also be taken and stored with the recorded data.

The anchor surface is acceptable if the average of the three pulls is equal or greater than
82.3 kN.

REACTION
BRIDGE\___ l
i

l PORTABLE HYDRAULIC HAND PUMP
IL AND CYLINDER

CALIBRATED
PRESSURE
GAUGE

N

E OR 1 3/4F—f——

E=ANCHOR EMBEDMENT DEPTH
Figure 2

bl

E
—

Valtir.com 36 Revision F December 2022


https://www.valtir.com/

The QUEST® CEN has successfully passed the European Standard EN 1317-3 tests. Impact
conditions which differ from those described in the European Standard EN 1317-3 may result
in different crash results than those encountered in testing. Furthermore, impacts in excess of

design

impact severity, or cross-slopes in excess of 8%, may yield crash performance which

does not meet the evaluation criteria of European Standard EN 1317-3.

Special Site Conditions

Contact Valtir Customer Service if you would like assistance with your application. You will
need to answer the following questions:

1.

Valtir.com

Are curbs, islands or elevated objects (delineators or signs) present at the site? What
height and width are they? All curbs and elevated objects over 100 mm [4”] high should
be removed. If possible, curbs less than 100 mm [4”"] high should be removed
approximately 15 m [50’] in front of the QUEST® CEN and as far back as the system’s
backup. Any curbs that must remain should be 100 mm [4”] maximum and be
mountable.

If there is a cross-slope of more than 8% (4.5 degrees), a leveling pad must be used.

If the assembily site is a gore area, place where two roads diverge, what is the angle
of divergence?

What is the general geometry of the site, including the roadway for 150 m [500°] in
front, so traffic patterns can be visualized?

When there is an existing guardrail or median barrier at the site, the backup of the
QUEST® CEN should tie into, or nest around it when possible.

Will there be traffic approaching from the rear of the system? Is the system in a two-
way (Bidirectional) traffic situation, with traffic going in opposite directions on either
side of the system? Or, is the system on the side of the road in a location where cross
over traffic is a concern? If so, a connection from the back of the system to the hazard
is necessary to prevent vehicle interaction (p. 41).

Are the chosen anchors adequate for your foundation conditions? If you are unsure,
please contact Customer Service (p. 3).

Are there any other unique features at the site that may affect positioning or
performance of the QUEST® CEN?

37 Revision F December 2022


https://www.valtir.com/

Other Factors That May Affect Your Design

1. The existence of drain inlets.

2. Junction boxes or other items located near the hazard.
3. Insufficient space for the system length.

4. The location and movement of expansion joints.

Contact Valtir Customer Service before proceeding with your design (p. 3).

Caution: Accurate placement of all steel rebar is critical to avoid interference
with the concrete anchor bolts if applicable.

Warning: Location of the Backup in relation to the hazard and nearby objects will
affect the operation of the attenuator. Upon impact, the Shaper Rails stroke toward
and extend beyond the rigid Backup and hazard as much as 1.8 m [6°] from their
pre-impact location, therefore the Backup must nest around concrete walls,
barriers, and pillars. Failure to comply with this requirement may result in impaired
system performance, offering motorists less protection.

Assembly Procedures

Note: The package provided with the QUEST® CEN must be used with these instructions
for proper assembly and should take precedence over these general instructions.

1) Deploy Traffic Control

A traffic control plan appropriate to the complexity of the project should be prepared and
understood by all parties before the QUEST® CEN is assembled. Follow the traffic plan
set forth by the applicable highway authority.

Deploy the appropriate work zone safety devices, as directed by the highway authority,
prior to beginning the deployment and keep them present through all phases of the
assembly.

2) Determining the Basepoint and Centerline

Typically the Basepoint of the QUEST® CEN will be the midpoint of the hazard at its front
face.

Warning: The Backup is designed to nest around concrete walls, barriers, and
pillars 24” [610 mm] in width or less. Failure to nest the Backup around these types
of hazards may result in impaired system performance.

Extend a chalk line from the Basepoint, perpendicular to the hazard face, or as determined
by project engineer, to a distance greater than the maximum length of the QUEST® CEN
(refer to the drawings provided). The chalk line will become the centerline for the QUEST®
CEN (Figure 3).

Valtir.com 38 Revision F December 2022


https://www.valtir.com/

Note: The QUEST® CEN, when properly assembled, appears to be an extension of the
object which it is shielding (Figure 4).

7

FRONT FACE OF HAZARD |1~

|
1
| e
\M'x s
-

( |~ //’,’,
~_ o
CHALK LINE \/‘>\\}\\Z§;/
7 &/\ugi[]"!/\ -

Figure 4 - Backup Location

3) Setting the Shaper Rails (D

Ensure the Spacers (ltem 43) are =
placed around the bolts (Item 37) inside
the window in the Backup. Snug the = =
bolts so the Shaper Rails don’t move ANGLE
when the system is lifted. Once the prackET T~
system is placed, the bolts can be — L 1F<-
loosened 1/2” and the front of the
system pulled out if more slack is
desired (Figure 5).

|

25.4 mm [1”] MIN.
38 mm [1 1/2”] MAX.

Figure 5 - Trigger Assembly Adjustment

Valtir.com 39 Revision F December 2022


https://www.valtir.com/

Warning: The tensioning bolt must have slack thread available to tighten the
Shaper Rail after anchoring the system.

4) Lifting and Placing the System
Use the lifting points to lift the QUEST® CEN into place (Figure 6).

Warning: Do not lift the system using the Tube Rails or Fender Panels! Lift the
system using the Diaphragms, Backup, and Support Frame only.

Use fixed-length slings with a 1365 kg minimum capacity. Fixed slings will prevent the
system from tipping.

Danger: Do not lift the system over any personnel. Do not stand below or
behind the system when performing this function. Failure to heed this warning
could result in injury or death.

For assemblies shielding concrete wall, safety shape barrier or pillar, the steel Backup
should be nested around the hazard (p. 40).

*SEE NOTE

AN

S e =
L] ; &ﬁi-i
Note: Maximum stud height for
& front anchor locations shown is
E 40 mm [1 1/27] (Figure 9).
= ==
ek -
AN I
Figure 6

Valtir.com 40 Revision F December 2022


https://www.valtir.com/

5) Adjusting the Trigger Assembly

Ensure 3/4” x 4” hex bolts attaching front of Shaper Tube are tight. Tension threaded rod
by tightening upper nut and 1/8” to 1/4" turn past snug. Assemble second nut on upper
side and jam [typical both sides] (Figure 7).

6) Tension Shaper Rails (See Warning Below)

Remove the Spacers (ltem 43) and tighten 1” x 3 1/2” bolts in the rear of the Shaper Rail
Assembly (Figure 9).

Note: For ease of assembly, Nose Assembly should be left off until system is anchored.
See Step 14 - Attaching Nose Assembly on pages 33 - 35.

Bidirectional Traffic

If a QUEST® CEN is placed in a location where traffic will be approaching from the rear, a
Connection Panel from the object being shielded to the Backup may be required. Hardware is
available to mount guardrail or a safety shaped barrier to the Steel Backup of the QUEST® CEN.

Warning: Location of the system with respect to hazard is critical and dependent
on the type of Connection Panel used. See project plans supplied with the system
for details.

AFTER ANCHORING SYSTEM, TURN THE NUT
1/8 TO 1/4 TURN PAST SNUG

JAM SECOND NUT

Figure 7

Trigger Assembly Adjustm 1z ' TIGHTEN 1” X 3 1/2" SHAPER
\ TUBE BOLT (ONE EACH SIDE)

SHAPER ASSEMBLY

ANCHOR
NUT— ~ CAUTION:
WASHER R MAXII\4n0UrI\';Irg'E'1U1D/2I-II]EIGHT
- _ ROADWAY/ BACKUP
Figure 8 Figure 9

Anchoring the System Proper Stud Height

Valtir.com 41 Revision F December 2022


https://www.valtir.com/

Connection and Side Panel Types

Important: The proper Connection or Side Panel must be used for optimum
impact performance of the system. The correct panel to use will depend on the
direction of traffic and what type of barrier or hazard the QUEST® CEN is shielding.
See assembly drawings if you have any questions.

Warning: Location of the system with respect to the hazard is critical and
dependent on the type of Connection Panel used. See project plans supplied with
the system for details.

DIRECTION
OF TRAFFIC

| I‘\I ' \ N

. N >

/ | DIRECTION N —\

*‘ | OF TRAFFIC
i i SN

~ \
FIGURE 10 FIGURE 11

Thrie-Beam to Safety Barrier Connection Panel Thrie-Beam to W-Beam Connection Panel

DIRECTION
OF TRAFFIC

e <™ =
<\ 2 >\ ~
FIGURE 12 FIGURE 13
Thrie-Beam to Guardrail Connection Panel Thrie-Beam End Shoe Connection Panel

NOTE: Maximum hazard width for all QUEST® CEN is 610 mm.

Warning: The 610 mm, 760 mm, or 915 mm Backup should nest around concrete
walls, barriers, and pillars 610 mm, 760 mm, or 915 mm in width or less,
respectively. Failure to nest the Backup around these types of hazards may result
in untested system performance.

Valtir.com 42 Revision F December 2022


https://www.valtir.com/

Maintenance Checklist

Frequency of maintenance required will depend upon site conditions. Visual drive-by inspections
are recommended at least once a month. Walk-up inspections are recommended at least once a
year for assemblies on concrete and at least once every six months for assemblies on asphalt.

Visual Drive-By Inspection

1) Check to see if there is any evidence of an impact (deformed Nose or Side Panels). If so,
a walk-up inspection will be necessary.

2) Check to see that the surface under the system is clear of debris to ensure performance
as tested.

3) Note the location, condition of the QUEST® CEN, and the date of the visual drive-by
inspection. Drive-by inspections are recommended on an as needed basis based upon
traffic volume, site accident history, etc.

Walk-Up Inspection

1

a W N

)
)
)
)
)
)

(o))

10)

Valtir.com

Clear and dispose of any debris on the site.

Be sure all bolts are tight and rust-free.

Be sure anchor bolts are securely anchored.

Be sure the Shaper Rails are tensioned and rust-free.

Check to see that the Trigger Bolts in the Front Anchor Assembly are intact.

Check to see that the Support Frame Assembly has not engaged the Shaper Rails.
Both Shapers must be over the forward-most part of the pre-crimped portion of the
Shaper Rails.

Check to see that the laminated straps at the Fender Panels are intact and connection
points are assembled correctly.

Check to make sure that the Diaphragm legs are on grade level and clear of debris.

Note the location and condition of the QUEST® CEN for entry in the impact attenuator
inspection logbook under the date of this inspection. Walk-up inspections are
recommended on an as needed basis based upon traffic volume, site accident history,
etc.

Refer to Post-Impact Instructions for more information.

43 Revision F December 2022


https://www.valtir.com/

Post Impact Instructions

After an impact occurs, the system should be repaired or replaced as soon as possible. Due to
its light weight, short length and minimal number of anchors, the QUEST® CEN has been shown
to be relatively simple for field repair or rapid replacement of the entire unit.

Depending upon the severity of the impact and site conditions, the QUEST® CEN can be either
refurbished on the roadside or repaired in the maintenance shop away from traffic dangers.

Some QUEST® CEN components may remain undamaged after less severe impacts, making
refurbishment possible. Entire systems can be repaired and then reused on the roadside or
damaged portions can be refurbished and reused as needed. Whether a system is repairable or
reusable is a decision than can only be made by the highway authority who has specified the use
of this device. That decision is never made by the designer or manufacturer of this system.

Recommended Tools
Documentation
* Manufacturer's Product Description Assembly Manual
* Manufacturer’'s Drawing Package
Cutting equipment
* Rebar Cutting Bits
» Concrete Drill Bits
* Rotary Hammer Drill
» Grinder, Hacksaw or Torch (optional)
Hammers
+ Sledgehammer
» Standard Hammer
Wrenches
* Heavy Duty Impact Wrench - 1/2” Drive
« Standard Adjustable Wrench - 12”7 [300 mm]
* 1/2” Drive Sockets: 1 1/8”, 1 1/4”, 1 1/2”
* Deep Sockets: 1 1/4”
» Ratchet and Attachments for the above sockets
* Breaker Bar: 1/2" x 24”
» Two of each: Open/Box End Wrench — 1/4”, 1/2”, 3/4”

Personal protective equipment
» Safety glasses
*  Gloves

» Safety toe shoes

Valtir.com 44 Revision F December 2022


https://www.valtir.com/

Miscellaneous

Note:

Traffic Control Equipment

Lifting and Moving Equipment (A lifting device is preferred although a forklift can be used.)
Minimum 2300 kg capacity required.

Compressor (100 psi) min. and Generator (5 kW)
Long Pry Bar

Drift Pin 300 mm [127]

Center Punch

Tape Measure 7.5 m [25']

Chalk Line

Concrete Marking Pencil

Nylon bottle brush for cleaning drilled holes

Rags, Water, and Cold Galv for Touch-up

The above list of tools is a general recommendation. Depending on specific site

conditions and the complexity of the assembly specified by the appropriate highway
authority, additional or fewer tools may be required. Decisions as to what tools are needed
to perform the job are entirely within the discretion of the specifying highway authority
and the authority’s selected contractor performing the assembly of the system at the
authority’s specified site.

Post Impact Procedures

1)
2)
3)

Deploy the appropriate traffic-control devices to protect your crew.
Clear and dispose of any debris on the site.

Check all components of the QUEST® CEN. Any components that are bent or damaged
must be replaced. After some impacts on the nose, it is possible that the only parts that
will be reusable are the Backup and Front Anchor Assembly.

To refurbish the QUEST® CEN, disassemble the system and replace the damaged parts
with new parts.

The Shaper Rail assemblies must be replaced if the Support Frame has begun to crimp
the Pipes.

During the process of refurbishment, follow the assembly drawings and instructions.
Check to be certain that the site is free from any debris. The QUEST® CEN is now ready
for service.

Parts Ordering

1)

2)

Make a list of all damaged parts using the part descriptions and part numbers shown on
the assembly drawings.

To contact the Valtir Customer Service Department (p. 3).

Refer to this manual for replacing systems.

Valtir.com 45 Revision F December 2022


https://www.valtir.com/

NJO01L9N3D08AL

INILSAS 08 N3IJ ¢1S3INDO

o N20LSNID080L
[

Jres

Lars _

[HdW 0] yum 08
INFLSAS 08 Zm”u@me:O

MRIND0LSNIO08dL
B

S1INM 40 'ON

H30H40 SIS

10021218 Jauing g
T oo | vzele ASSY HIODIHL
apiiz 961/09 2% | SAYE ASSY HdVIO
L9¥G19 L AVE JNVHL LH0ddNS
EICh| Se¥EL9 ATHNISSY WALSAS 1S3IN0D
900Z/82/11 SUIULINGD "o
e SdoNddddad

123rodd H3

Ve 3dvHS NOVHHAVID @

JENYd 2 AVE @ L Ava @

ON T¥Id3s

geerel9 "ON A1gNASSY
IVNOILO3HIAINN

A3LON ISIMYIHLO SSITNN [STHONI] SHILIWITTIN NI FdY SINFWHNSYIW 40 SLINN '8

AONVINHOJ43d LOVdII
H3dOdd FUNSNI OL ATONIGHOIIY TIWLSNI 'SAUVZVH 3a1m [00°72] 019 aNNOYY
183N 0L d3NDIS3A ATTWOIHID3dS dNMOWE 13318

y\

T3INYd L AVE @KOIUZ( ANOYS @
dnXova @ 380N @

TIvd Hy3d @

AIM
F December 2022

'0619-29¥ (Z1£) LV 30IAYIS HIWOLSND LOVLINGD IS¥ITd "NID 1S3ND

aavy w\

ATALYHYAIS IO "HITWNN TICOM NI GIANTONI LON S1108 HOHONY ‘9 JHL 40 ADVHOHONY OL SNILY1FY JONVLSISSY HIHLHNS HOA '€

Q3ATIIHS ONIZE 103r80 IHL OL WALSAS NIO LS3ND IHL WO NOILISNYHL ‘NI L0 9] Wzt 1ovdII
ILYNOIAY NY ATddNS TTYHS HIWOLSND FHL AUYSSIOIN JUTHM G MOJN QHYMYYIY 30ITS OL STIvH ¥y3d H0d 3V 38 TIVHS NOISIADYEd 2

"269-67€ (888) 1V INFWLYVAIQ JONVWHOIHId LOVAWI 83d0Md NSN3

J0IAMAS HIAWOLSNO ONITIYD AG TTEWTIVAY MY TYNNYW 3608V 40 0L SANYISI NY SBYND 11V 40 TYAONIY SONFHWWOOTY HIHNLOVANNYI
S31d0D ONY NOLLYIWHOANI “I1IS NIAID ¥ LY WALSAS ¥ ONIOV1d F00438 30INS NDISIA 30ISAVOY Z00Z OLHSYY JHL HLIM JONYITHNOD NI 'L
SNOILY.LIAIN NDISIA ANY SOLLSINIALOVHYHD JONYINHOANId LOVdWI SLI “S3LON

40 NOILINOSIA ¥ 4O TYANYI LONTOHd WALSAS N30 183N0, IHL 338[ +
3aIS 1431
NOILYAT T3 —4
I_H ]
C 1
/ 1 Y 93loN33S
i |
m—_———r—————— | —— |
! —=
'NO 4@@ Mv e z310N 338 1310N 338
NV 1d
SIFEVTRpS
g MV Mw PEIGYEES
T T T
\
°
BAAAA Sl i
G%® ¢t SILON 338
- -
HLIONITIALDTAHT - Le-at] wze's

Old4vdL >

HLONIT W3LSAS -

ision

Rev

46

Valtir.com


https://www.valtir.com/

NO0L9N3D001AL

INJLSAS 001 NIJ 1S3ND

ATA

a L jo I NJ0LAN32001aL ar=1
MPIAO0LENTO00LAL
9002/02/7 1dS
T e Z12919 ASSY ¥IDOML
900z 2T} anr 961209 791 SAVA ASSY NEYHHAVIO
WILSAS 001 NID 153N0D s 199519 | A¥E FAYE LHOdANS VY H3dvHS e NOVHHAYIA @
900z/0L0L uosuB|ip "d £8¥EL9 ATENISSY WILSAS 1S3ND
5o TANV 72 Avd @ L Avd @
S00Z/Z 1 2y -
oL PiEiex a SdOoNdddd3d
3NV L AVE @EOIUZ{ INOHd @
gE8FELY 'ON ATEINISSY
YNOILOZHITING i (5)  drviove (5) ason (1)
301 1531
NOILVYATTE
e Z 310N 335
muqmmT\ % / uu. = 4_ "
P q 93LON 338
r————— = o
| i ’ ¢31oN33s( §
OlH4VAL >
"03LON ISIMHIHLO SSITNM [STHONI SHALINTTIA NI THY S1INN 8 NY1d
*JONYIWHOSHId LoV ,
H3d0Yd JUNSNI OL ATONIGHODIY TIVLSNI 'SAHvY2Z¥H 3AIM 019 ANNCHY (HLONT WALEAS) Li-2z] W 228
LS3N OL JINSISIA ATIWIIIDIS Ovd ILIHONOD ANV MIDVE 133LS 2 - —
minh w g
"ATALYHYAIS HIAHO HISWNN TIAOW NI A30NTONI LON SLT08 HOHONY ‘g (HLONT IMLOTH4T) Le-ezl w122
"30713IHS DNIAF 1D3PE0 FHL O1 WALSAS NID 1S3ND IHL IWOHS NOILISNWA L s
A1¥NDIAAY NY ATddNS TTYHS HIWOLSND THL "AHYSSIDIN TTHM 'S
FIEOECE 1908) I INGW Va3 —
30IAYIS YANOLSND ONITIVD A8 TEVTIVAY 8V TYNNVIN FA0EY 40 Ve = i
SN0 ANV NOILYIWHOANI "I1IS NIAID ¥ LV WILSAS ¥ ONIOV 14 340439
SNOILYLIWIT NDIS3A NV SOILSIHILIVEYHO FONVINEOIETId LOVdWI SLI o
40 NOILJIHOS3Ad ¥ HO4 JIVNNYIW LONA0Hd W3 LSAS N33 L1SIN0. IHL 338 |+ -
‘062929 (21£) 1¥ IDIANIS HIWOLSND LOVINGD ISWITd 'NID 153ND prere. aaan s 1
3HL 40 IDVHOHONY OL DNILY13H IONVLSISSY HIHLUNS HOA '€ — T " e v o @ .,
A
NI [0 9] Wzg L LDV 28
NOdN QY MEYIY 30NS OL §71¥e Hy3d ¥O4 3avIN 38 TTVHS NOISIACYd 2 =2
L3LONT3S =%
FONVINHOSHTD LOVAINI H3d0Hd IUNSNI Jlddvdl v g3
OL SANVISI ANY S8HND 11V 40 1YAONS3E SONINWODTH H38NLOVANNYIN u\n_ =
"301ND NDISIA 3AISAYOH Z00Z OLHSYY THL HLIM 3ONYMLNOD NI L =
'S3LON

F December 2022

ision

Rev

47

Valtir.com


https://www.valtir.com/

NO0L9N3O01L 1AL

INJLSAS 0LL NID £1S3NDO

AIM

2 I NO0LeN3D0L HaL b=l
MPID0LONID0LLAL
- -
S0vereLs WA zizele ASSV YIDONL
WILSAS 0LL NID_ 1S3ND 007116 95LL09  2¥) SAVE ASSY WOVHHAYIO
@ e o 19¥519 I AVE INVYHS 1H0ddNS WYY ¥IdVHS ° WOVHHAYIO @
$00Z/92/21
: VBFELD  ATBIISSY WIALSAS 1S3ND JaNvYd FZ AVE @ | AvE @
S00izHoL P, SIoNDSdIddd
- - J3NYd | AV @ HOHONY LNOYI @
areveLy ‘ON ATaWISSY
IWNOILOFHIQINN RICERErE @ dmiova @ 350N @
3015 1431
NOILVYAZTE
Z310N33S
i 4 / ﬁ
z . = = U £310N 338
W
5 (2 —|
2 |
T
/ 4
& b D e
JONVNHOAEId LOVNI
d3d0Yd TUNSNI OL ATONIGHODOY TIVLSNI ‘SadVZYH JAIM 019 ANNOYY "V _
LS3N OL 0aNDISIA AT1¥0IID3dS O¥d ALIEONOD ONY dNYOvE 133LS 8 Olddvdl NV 1d
A13L¥dYIS Y30M0 HAGWNN TI00W NI 03ANTONI LON 51109 HOHONY 2 X
) [,2-.L2] wpe
“Q3LON ISIMYIHLO SSITNN [SIHONI SHALINITIA NI 3y SLINN 9 - (HIONTTWALSAS) L2707] W 02
-
Q3TT3IHS ONIZE LOIrG0 3HL 0L WALSAS NID 1SIND 3HL WOHL NOLLISNVEL [HLONTT 3AIL03443) Le-gel wize
3LYN03AY NY ATddNS TIVHS YIWOLSND IHL ‘AUYSSIOIN FIHM 6 ]
—
(A I¥ INSWLavd3q il ]
IDIANES HINOLSND ONITIVD A9 TNV IVAY FaY TWNINYIN IA0EY 0|
$31d00 ONY NOILYWHOANI "3LIS NIAID ¥ LY WILSAS ¥ ONIOVTd 304349 .
SNOILYLIAIT N9IS3A ONY SOLLSINZLOVEYHO JONVINEO0Jd3d LoV SLI
10 NOILINDS 30 ¥ 4O I¥ANYIN LONAOHd WILSAS N3D 1S3N0, IHL 338| 7 Q\ . - Y
1 1
0528-297 (21.€) 1 DIAYTS Y3WOLSND LOVLNOD 35Y¥31d "NID 1S3ND 3 \. E]
3HL 40 IDVHOHONY OL ONILY13d JONFLSISSY H3HLHN 504 € \ / @ g
a8
NIW [0 9] weg L LOvd| Dl44vHL v =%
NOdMN QayAMEYIE 3AMS OL STvY Hv3d 304 3avIN 39 TIVHS NOISIACSd 2 5 310N 338 =2
52
“ADNYWHOAHId 1OVl H3dOEd HNSNI -
QL SANYISI ANV SFHND 11V 40 TWAOWIY SAONIWWODIY WIHNLOVINNYW =
30N NSISAA 30ISAYOY Z00Z OLHSYY 3HL HLIM FONYIIHNOD NI )
‘S3LON

F December 2022

ision

Rev

48

Valtir.com


https://www.valtir.com/

G8¥¢<1L9

AT9INISSV 08 N3ID ¢1S3ND

Z0 1 ] G8PELD @Imy
ONIMYHA 3T¥0S LON O
MpI'GaYE LS ABuooT "y
= cte
08 ZmUn,w._.muDU olaNIO0RAL PO 0
Z 9 AN EXHE LY 14 HIHS YA L208LL| 0%
z 1S3N0'NOISNIL TV ¥IDWdS £esri8| 6v
3 08'N3D 1S3N0D'32' w230 LBFPLL] 8F
5 2'ZX8/5 vy 1108 00PE00| i
] 3DILON NOILYWHOANI ALIIVS WIHILYIN P
L N30 1SINO'SNOLLONYLSNI TIVLSNI e S
L 1S3ND'LONACH 1030 LBGPLL|
3 HQ'z/1 X91/£'59890S LS LIAIY 95L9LL| E¥
L $10N00dd T1¥ NCILLNV3 Tv03d opr| 2w o
4 TYHL TIV'O'SO' PXFEXH' L7108 B9GELL| ¥
91 'O IXB/EXH L1089 9656k OF
z 9'6D'Z/ | EXPIEXH L1109 #EeELL| 6
9 9'59'Z/| LX8/SXH 11089 pooelL L] se Y
Z 9'69'2/L EXLXH 11089 0eqell| it y)
4 9'89'SXLXH L1109 QEGELL| OF —
+ 950 ZXP/EXH 1109 e S
aL O'8/E'XHLAN 0965LL| EZf
4 9L'XHLNN LEBSLL] LE
oL HQ €98 LNN X3H AAH .F/E F0.LE00| OF
9l S'ZE-9# XH'LMN s08sLL] sz
09 Y D' XHLAN 0FEE00| BT
[43 SKELX O HE LY 14 HIHSYM QE0BLL| LT
C O'PiLXTXE HVE HIHSYM oio418| 8¢
9l S'0E0 XBISXIR LY 14 MIHSYM 186411 ST
9 S 'BiE L X 8/G° LY 14 HIHSYM ooee0n| vz
k] S'AIANNOY ZXF/ L LXE/L'HYE HIHSYM S00LL9| ET @
8 SIIHd'Z/L LXZE-G# Nd MIHOS cesall] 2z
¥ 9'153ND 1INV I0VHE CFESO8| LT
¥ 9'1S3ND SAVE TENvYd 96LL19] 0T
z 9'LSAN0’ L AVEI3NYd z6.118| 61
4 D'SLOTSIM FIXPXP/L LS 174 £15809] 8L
z ©'SITOHM'9L/L DLXSHEL ZXFiL 1S 174 s1ye09| 4L G e T
4 1S3ND'Z Ava133d dvels @2irl9| &l i
z 153ND°UYIN 1334 dvalls celplo] v
Z 9'03dWIMONN'LSIND VY Hv3Y £88€18| El
3 FZ'LSAND ASSY WOVHHAVID 961209 L) anek s, SLLL
] 1d'9'LSAND ISON 8:9118] o1 =
L 1d'9'1SIND TNOILISNYHL ISON Lrallg] 8
L 149’ LSANO Y NOLLISNYHL ISON ZreLL9
L F2'LSIND ASSY UIDDL 212919
z 9°1S3N0'dv LS HIOORL 0£2919
L O LSIAND LINOHS HOHINY 508418
3 9'02 1S3NDY vy ¥3dvHS L0719
] 908 LSINDTIIVH HIIVHS 120719
] PZLSIND'ASSY INYHL LHODINS 29¥G19
] 1S3ND°+Z'dNXove 2veros] L
ALD NOILDIN0S3a "ON MO0LS | W3l
1817 S1dvd

F December 2022

ision

Rev

49

Valtir.com


https://www.valtir.com/

TR 30 340 e3n

N ER A =]

08 N32,1S3N0D

ONIMYHA 37708 LON 04

MPIGEPELD

i

A00ZIZLI6

Asuoo 'y

QFIN3D08AL

o

9002/2/8
o

PIEY D

TYOIdAL

ATGWNISSY dVY1S 133d

©00

1w13a
Sva3a umm\\

NIIMLIE NI IVD i} XOHddY HLIM

2k WAL 3aNN A3431NID 8% SWALI

ZF WALI HOd NMOHS S ‘dNXOvE 40
H3LNID NI FI0H SER TIIHa

SvO3d

037T¥LSNI N33 IAVH
S13NVd M3 LIV TVOIdAL

ATdNISSY 30vH8

50 Revision F December 2022

Valtir.com


https://www.valtir.com/

€8Y€19 AT9INISSV 001 N3J 1S3ND

F December 2022

e T £BVELD _@Em.
ONIMYad 3708 LON 00
MPIEBPELY
WILSAS 00} N3O 1S3aN0D OlONIo00KL | peRE 0
z © AAH EXH/E LV 14 HIHS VAL 1Z081L] 0%
4 1S3IND'NOISNIL 1vH HIOVdS ££5r19| 6F
| 011/00F'N30 1S3ND'301%03d [ D
[23 D'ZX8/E VY L1089 00FE00|  Liv
| JDILON NOLLYWHOANI ALIIVS TWIHILVIN #19G1L] St
| N3D LS3N0'SNOILONYLSNI TIV.ASNI pazsil| oy
| 183N0 LoNA0Hd Tv330 LBSFLL]
| HO'Z/1X3L/E'SAEIAS LS LAAIY 85L91L] EV
| SLONOOYd T1¥'NOILNYD w030 LoPrLL] 2v
4 O4HL 11Y'9 SO PXFEXH L1089 g95€1LL L
[ 9GO X/ XH L1108 96SELL| Oy
4 96921 EXFIEXH' 1108 8G5ELL| 6E
El 95D ¢/l_IXB/S XH 1108 T
4 9'6D'Z!L EXLXH' L1039 0ESELL| ZE
z ©'90'5X} XH L1108 gesell| oe
v 969 ZXFIEXH 1108 SGGELL| oe
2 9'B/EXH LAN 09651L] ze
z S L XH NN LE6GLL| e
0l HA €95V LNN X3H AAH .b/E v0LE00| OF
[ 52608 XHLNN 60651L| 6¢
81 VYO 8IS XH LAN 0v£c00| 8z
[ 9L/ELX Q1 B/ LV 14 93HSYAN [ T
z VI XZX2 uva 4IHSYAN (AL B
e S0 XB/SXGH LV 14 HIHSYM £BBLLL SZ
9 O WE b X 8/5 LV 14 dIHS YA 00£c00| vz
8 ' 0IANNOY EXTI L LX8/ L HvE HIHSYM G00Z19) €
[ S IHd ¢/l 1X2e 0¥ Nd MI0S cEeall| e
9 9'1SIND 1INV IOVHE EPEGOY 134
9 ©'153N0 SAVE 1NV 962419] o2
Z D'LSIND'L AvE13NYd Z6.119] 61
4 O'SLOTSIM PLXPXP/L LS 114 £15809| 81
z ©'STIOH/MLL OIXILEL ZXpil 1S 114 I T
4 183ND’'E A¥E 133d dvHLS cELrLY| 81
z 1SAND'Z Avd 133d dVRLS szirie] sh
[4 LS3ND YY3H 133d dVHLS £ELFI9] FI
4 S'03dWIHONN"LSIND WY HvIy €99€19] €1
z $Z' LSIND ASSY WOVHHAYIQ o6L209] 11 e PR P soan " <allen e —
| 1d'9'153IND'ISON 8/9L19| OL
| 1d'D°1S3N0 TNOILISNVaL 3SON vore] e
| 1d'9'1SIN0D H'NOILISNVHL ISON crolle 8
3 #2' LSAND' ASSY HIDDIML Z1z919 L
z ©153ND dvallS H399IL [EZIE °
| S'$2' LSAND' LNOHA HOHONY G09/19 S
| 1S3N0 W IV 13dVHS seoris| ¥
| 9'1S3ND" T IV ¥IdVHS 620F19 €
3 2 LSIND'ASSY WYY LH0ddNS LO%519 Z
| 1S3N0¥Z dNXova 1vop0a| 1
ALD NOILJIOS3a "ONMOO0LS | Wall
1817 S1dvd

ision

Rev

51

Valtir.com


https://www.valtir.com/

2z | €8YEL9 _ mww!.mu_.
ONIMYHA ITYOS LON O |, 5oy
MPIEBFELY
W3LSAS 001 N3O, 1S3ND DIENIO00LAL e,
IWOIdAL
ATEWNISSY dvdlS 133d

Q00

vi3a
230 338

AITIVLSNI NIIF IAVH

ATGWISSY 30VHE

&J

ST3NVYd H314Y IWIIdAL

87 ANY #F SNFLI
NIFAMLIE NI dVD /L XOHddY HLIM
2y W3LI 43ANN O3YILNID 8F WILI
£F W3 LI H04 NMOHS SY 'dnXOve 40

H3ILN3O NI F10H 8LED TTIHa

S7v23a

F December 2022

ision

Rev

52

Valtir.com


https://www.valtir.com/

¥8Y€L9 ATAINISSV 0LL N3ID ¢1S3IND

F December 2022

KD ravels | | @7
ONIAMYYTD IT¥OS 10N 0a
MPIPEFELY 90027 biL T
24 e o
WILSAS 0L N3DgLSAND olen3ooLldL [ s00zioes pIRIUOY ‘a
z ' AAH ZXHIE Ly 14 HIHSYM szogl] o
z 1S3N0°NOISNAL TIvd §30vds sssrio| er
L 0L1/00L'NID LSIND 30 Wo3a osvril]| 8r
L 0'ZX8/5 IvE' L1108 ooreno| Ly
L FDILON NOILVIWHOSNI ALTAVS TvMILYI PEE e
L N33 1S3NO'SNOLLINLSNI TIVLSNI vrzsiL| o
L 1$3ND'L0NA0Nd W03a tesril]| ey
L HQ'z/LX81/E 588905 18 L3N a5291L| ev
L SLONJ0Yd TIV'NOLLNYO wo3d lorriL] zr
z QUHL 1TV ©'69' VX FE XH 1108 goseiL]| Lr
7T D'59'LX8IE XH 1109 geseLL| or
9 9'69'Z/L EXIEXH 1108 gssell]| 6
3 9'S5'Z/L LX8/SXH 1108 vgoeLL| s T
T 9'69°Z/L EXL'XH'1108 0ESELL] 46
¥ sssell| se e
#Z £'8/€ XH' LNN oossiL] ze
z O L'XHLNN [EMI
[ HQO £95W LNN XIH AAH .PIE vosc00| oS
vz S'ZE-9# XH'LNN 608siL]| 6z
8L v OFIE XH LNN oree0o| 8z
[ 9L/ELX QI B/E" 1Y 13 HTHSYM ocosLl| zz
z O/ L XEXZ Uy HIHS YA oroz19| ez
vz S'0£0 XB/SXGH Ly 14 HIHSVA oL Sz
3 O FE | X 95 LY 14 ¥aHSYM 00££00[ v
8 5'aIANNOY' ZXP/ | LX8IL HYaYIHSYAM s00/19] €2
13 SIHA'E/L LXZE-9% Nd'MIN0S £E69LL ze
E) 9'153N0 TaNYd 3oV £ves0e| 1z e
9 ©°153ND'SAVE13NVd 96119] 0z ’
z ©'1SAND’ L AVE 1ANVS z61119| 61 |
z O'S10TS/M 7LXPXFL LS 11 sise09| 81 \
z ©°S3IOHIW9LIL OLXSLIEL ZXWiL 1S L4 sLveoe| Z1 1
z 1S3ND'E AvE "133d'dVHLS zesrlo| gl
T 1S3ND'Z AvE133d dvils ) IED
z LSIND HvI 1334 dvlS ceivio| bl
z 9'LS3IN0 TIvY WY 3y zooelo| €l
z LS3N0 dNMOVE H3dVHS zrorlo| zi o sune ST}
z v LSIN0 ASSY WOVHHAYIQ 96L200] 11
L 1d'9'153N0'3SON srot9] ol
L Ld'9'LSIND T NOLLISNYYL 3SON rore| 6
L 1d'9"L53NDYNOILISNYH1 3SON zratio] 8
L ¥Z'1S3N0"ASSY HIDOML zizate| 2
4 D' 153N IVHLS HIDDIHL 0ezaLo 9
L 9'7Z' 1S3NT LNOHS HOHINY 509/19] G
L ©'1S3ND Y TIve H3dVHS seorlo| ¥
L ©°L53ND 1 IV ¥3dVHS 6z0r1o| €
L 72 1S3IND'ASSY KV 1H0ddNS sovs19] 2
L 1S3N0'bZ dNMove svovoo| L
“A1D NOLLdH0S3d "ONIDOLS | WLl
151 SLluvd

ision

Rev

53

Valtir.com


https://www.valtir.com/

N N N =
ONIMYHA 3T¥OS LON 0d
MPIFERELD
NILSAS OLL ZMO@FWM_DO OloN3D0LLAL n:w moom\omM.m,w.g

TWIdAL

ATANISSY dvH1S 133d

A3TIVLSNI NI3d 3AVH
STINYd M3 LY TTYOIdAL

ATHNESSY 30vdd

8 ONV #¥ SWI LI
NIIMLIE NI d¥D 471 XOHddY HLIM
ZF WAL HIANN 393 N3O 87 W3LI
2% W31l 404 NMOHS SV 'dNXave 40

H3LN3D NI 3T0H .OL/E@ T1IHA

SvD3d

54 Revision F December 2022

Valtir.com


https://www.valtir.com/

0000-20029S€ (LTVHdSV) NOILYANNO4

- o

a z 0 _ 0000-£00295E _ al=L
= - - — MprOO00-£00299E
u
An_nl_{.—l_ﬁ_mﬁ-v S00ZHiE Jaybnoig o
NOILVYAONNO4 WILSAS 5 1S3NO
SO0ZIEIE uIpuEL
S00Z/2/E uijues v
S002/2/E PiBJuoY ‘a

LI ONIYOHONY aNls e-dii
AHVESIOIN SV HOHINY-3d " LOVdWl HOY3 SNIMO 1104 138 ATd3d0dd TS

34V SYOHONY IHL JUNSNT OL A31034S8NI 38 1SN LTYHISY NO A3TIVLSNI SWILSAS 1S3ND vN03

Movd
OL INOHd WOHS %<& NYHL 30N AHWA LON ONY %8 0330X3 LON T1¥HS NOILYANNOd 40 340718 SSOHD

NY 3AYH LSNIW SALY1d HOHINY ONY dNXOVE NI 370H YOHINY AY3AT -

A3A0HddY YO 'SWIALSAS NOILIHOSEY ADHINIT A8 A317ddNS "WILSAS HOHONY HILSIATOd £-dW 38N

"S3TOH ONITTIH HO4 3LVIdWIL ¥ SV dNXOWE ANY S3LY1d HOHONY 3HL 38N -

=

o

b

‘WIALSAS HOHONY

.21l wwpgy - L8] wwegz

.81 WGy L.o] wuwzg| - L9 Wwzg |

.81] wwpgy L] wwgy | Lelwwgy
HionzTanisaoay] O g v

L 910N 338
9L/l 3OS

V130 3d071S SSOHD

HIAVTANWINIA NOILOVdINOD %SE
31¥OIHODY T SSV1D
A3 L9¥dNOD ANV 03HYdI™d 'ISvE-8NsS - O
(#8-6E0 WLSY ¥3d ONILSIL
WrE-ZbD WLSY HO v8-LED NLSY H3d
ONITdYS) ILIHINOD ‘D'd [ISd 000¥] YdIN 8Z - 8

Y Q3N "XV [WWEL] L piE 3LVDINDOV LTVHESY

000F-4Y ¥3ANIG LTYHdSY
{18££0 WLSY H3d) LFHONOD DILTVHASY - ¥
SIVIHI LY

0000-800295€ - ASSY HOHONY L1¥HASY

NOILYINEO4NI §3HLHNd 804 SNOILOMELSNI AL34VS

ANV NOILYTTY.LSNI LS3ND 3HL OL Y343y
8L/ 3Ivos

M3IIA NOILDES LSIND

F December 2022

ision

Rev

55

Valtir.com


https://www.valtir.com/

v e |

0000-20029S€

(3134D9NOD) NOILYANNOA

a Z © 2| O000-LD0Z95E ETE
— #PIO000-200Z88E
(31340NOD) il
S002IbrE TR
NOILYANNOA _\)_m_FW\zw@me_ no aum "
S00Zeie uIpueS Y
So0zreie e v
s00zrie PIEsIoN

LI ONIHOHONY NLS &-diAl NY
FAVH LSNIA SNOILYIOT 31V 1d HOHONY ANV dNMOWE IHL NI 3T0H HOHONY AY3AT

<+

"AHYSSIDIN SY HOHONY-IH “LOVdI HOY3 DSNIMOTI0d LIS ATH3dONd TILS
Y SHOHINY IHL FUNSNI 01 d3L23dSNI 38 LSNIW FLIHONOD NO d3ITTVLSNI SWILSAS LSAND TWNo3
d3A0HddY HO 'SWILSAS NOILJHOSAY ADHINT AG dI1ddNS WILSAS HOHONY YILSIATO €-dW 3SN

o

"SITCH ONITINA YO 3LVTdWEL ¥ SY dMMDVE ANY S3.LY1d JOHONY JHL 3sn

o

MOvE
OL INOYd WOYd %2 NWHL 35O AY¥A LON ONY %8 J330X3 LON TT¥HS NOILYONNOS 40 34078 $SOHD '
W3LSAS HOHONY

1 JLON 338
oL/ 1338

V130 3d0O71S SS0HD

"NMOHS LON 'JdN1INYLS Y530 FOMOANITY (0021 081 - O
‘NAMOHS LON "ONOT1.0,08] wrz'sL A8 3aim .0 .21 weg'e
1S¥31 1V ONIINSYIN ‘AYMAYOY a30¥04NIZE-NON [o0°gl €0z - 8
0000-900295€
ONIMVHA IONT3S3Y 3d Qv AIDH0INITY [00°¢] 261 - v
SIVIHALYI
0D000-600ZIGE " ASSY HOHONY JLIHONOD
HLONITANLS AIHIN0IY WL
NOILYIWHOANI H3HL1HN4 04 SNOILLONELSNI AL34YS
ANV NOILYTT¥LSNI LS3N0 IHL OL 53434
91 /1 308

MIIA NOILDFS 1S3N0D

F December 2022

ision

Rev

56

Valtir.com


https://www.valtir.com/

961,09 ATGINISSY NWOVYHAVIA

a Lo 961209 @lm
800ZstrLiL M
. . et el
Y2 LSAND ASSY NOVHHAVIA 900ZIPLIL
0021222 |
a00z/91.
SeEWal 2 27 5961209 ON Lavd

®

z HQ 9 EXH LNN orsestl| ¢
z 9'59'¢/ ) EXPIEXH L1108 ogssell| €
z LS3N0WOYHHAVIA 3AIND TIvY asosele]|
L 9'1SINO YT NOVHHAYIA 9622209) L -Q314193dS FSIVIHLO ONIMVHA FTYIS LON OJ
"ALD NOILHO$3a "ON MOOLS W3Ll $SIINN 'LO0-45-S¥3
TSM SV H3d SIONVETIOL LS11514vd 335

Revision F December 2022

57

Valtir.com


https://www.valtir.com/

L9%G19 ATaINISSV JNVHd 140ddNS

-
] Lo L9¥519 _ @Im
o s ]
E
#2' LSAND'ASSY INVHL LHOdANS prw—
S002/9212 ). g
o00z/8zk DijUoM “Q
it el
SseLq| £ Ezk H29¥519 ON 1uvd
P = Pe—o ——

I e (o4 4]

4 HQ H9°.FE'XH LNN OFGESL L 14
4 9'SD'ZiL EXPIEXH L1108 DBSSEL L €
4 9'LSAND' NOYHHAYIO 3AIND TIvy 05058419 4
3 9'WO0D 72 ASSY INvY LHOddNS OBEYS LY 3 a314193dS ISIMHIHLO ONIMYHG 31¥OS LON 00
"ALD NOLLJINOS3a “ONY00LS W3LI | SS3INN LO0-35-5v3
Terslava ¥3d S3ONVHIT0L LS SLHvd 335 |

Revision F December 2022

58

Valtir.com


https://www.valtir.com/

[ATA IR

ATEINISSY ¥399RIL

a [T R Z12919 7 @Im s sama
uf e . 53 541 34 SHEISHIAI T T1L0H T 10 ST
S002IPH/L |
¢ . : e
¥ LSIND ASSY HIDOIHL 2002k 1L e
n® et
s00uL2set | sy 0 |
9002142/t P3Oy ‘a
Al i
SSEWq| £L2% 9212919 "ON Ldvd
I ——
£ 310N 335
L ©'153ND'T'HIDOMYL HOHINY OP6IL00| &
L 9°153ND 'Y HIDOILL HOHINY DL69E09 ¥
4 9'6D'ZL XH LNN O0PESLL| €
z 9'/8°Z/1 E1XZ/L'030¥IEHL 00 D6./911 4
ELE IR
L DN0A LSIND INYHS HIDDIHL 0022819 L 000 F 0K 1_4_,<,w_mn_240h ONIMYHA 3T¥0S LON 0J
ALD NOILJIHOS3a "ON Y3013 3L m"ﬂ,. M XX4<ZWJ\M.M,UM\MDH_ u_m%
15171 S14vd 1T AvINONY 101 1811 mkm<@,.m_mm

QIHIVLLY JHY SAVALS HI0DIHL
LN 440 1437 39 OL 38V A0y A3a¥3dHL 40 ¥Y3d LY NMOHS S1NN '€
Wyr ANV 301 H3ddn 3HL NO LNN ANQJ3S W T1VLSNI 'S87 714 58 OL
31¥1d HOHONY LSNIVOY IN0HOL ANV 3AIS ¥3ddN NO LNN INO TIYLSNI '8
WP ONY ON3 J3MOT 1Y SINN 2 TIVLSNI
ANVHA 3991 ANV HOHONY HONOHHL 00 d30v3dHL 1H3SNI Y
INOILYTTYLSNI Q0¥ 03av3dHL T
‘NAMOHS 8V SW3LI 3719W3SSY L
S310N

F December 2022

ision

Rev

59

Valtir.com


https://www.valtir.com/

-
0000-81L029S€ avd 31340NOD
z 1oL 0000-810Z9G€ _ 0g=1 s
MPI'0D00-8L0295E
avd 3134ON0D 900Z/82/6 HIHONOHS o
08 N30 153ND 000Z/82/6 KauoaoT "y
ANY (.r2) WILSAS 2115 1S3ND
900Z/02/6 suwng 'y
"OY¥ZyH FHL ANNOYY dvd FHL 40 NOILHOd HY3Y JHL HNOd OL
SNOILYHYATEd YN 'S8T HO HLOIM NI [00%2] 019 SaHWZYH
ANNOYY 153N OL GINDISIA S| NMOHS avd ILIHONGD JHL -
5L/ 3voS V130 WYE HOH € L33HS 338
F IYII0 "03LON ISIMEIHLO SSTINN [STHONI] SHILIWITIN Fu¥ LNIWTHNSYIW JO SLINN

AOVE OL LNOHS WOH %E NVHL IJOW Ax¥A LON ONV %8 d330%3 LON TI¥HS Q¥d 40 3d07S SS0YD

5310
[Z1ZlWopg [lphgLeel.w it
*mw%muswf lISd 000t] edW 82
i 313HDNOD Od -
J1avL v-Y NOILD3S AT +

[69'61] 006

-t

-

le14/0l §¥ 1] <U/BY $2EZ "MO0TE HOHONY ONY SL/13TV0s
Qvd 3LIHONOD 2°d "WNWINIW [1Sd 0007 BdW 82 ERIE]
- -
[00'v2l 019
—— =
i /f loo'vz] o1a
1 \ )

= = ~

g 2§ B 2 -

- o - 2R =

g (loo'e] 2 EE 2\ 8

A=} s 8 = =]

= = / =

Y =z

i Ay g I

/l.‘ [

=

b

=

- -] =

HLON3T1avd [bi- 2] wese z

-

= avd 40 3903 ¥v3d WOH4 [06°8¢e] 226 NID3d - [eo'ce] S0 " 8.
o "8H3INID [00'72] 019 L Hva3d [6#] wuwgl - 2les
k=] looel 9oz leoel e [ wm
v RS
[ — [l 2
L = . / , y mz
J oz

looarl 6121
[00°v1] g9

<[

F December 2022

ision

Rev

60

Valtir.com


https://www.valtir.com/

0000-810295€ oz=1
A

o Tz

MPIO000-8L0TISE
14

avd 3134INOD 9002/82/6 HIHONOYd ¥
08 N32 153N0 T ver
ANV (.#2) WILSAS 211 5 1S3ND
woomawu,m mEEE:nMu?,Mr
Hyva3y ()
B [96° veel 8965 "
9 yvaad (¥) ddva3ad (z) T uvaad (2)
7 [ooal zs1L - [00-9l z51 [oosl] 5¢
i i
Y
N @-

a dva3y (v1)

[62°zv] 9801

Dyvaad (1)

[oo 1€l 282
—_—

g yva3d (2)
[ [eggL] esr Ii
—_—

¥V dva3d (v)

loosl 221 j
]

61 Revision F December 2022

Valtir.com


https://www.valtir.com/

NOTES:

Valtir.com 62 Revision F December 2022


https://www.valtir.com/

For more complete information on Valtir products
and services, visit us on the web at www.valtir.com.
Materials and specifications are subject to change
without notice. Please contact Valtir to confirm that
you are referring to the most current instructions.

1.888.323.6374

VALTIR

A TIER ABOVE




	Customer Service Contacts
	Important Introductory Notes
	Safety Symbols
	Safety Rules for Assembly
	Limitations and Warnings
	Inspect Shipping

	System Overview
	QUEST CEN Fasteners

	Pictorial Assembly
	Site Preparation/Foundation
	Special Site Conditions
	Other Factors That May Affect Your Design

	Assembly Procedures
	Bidirectional Traffic
	Connection and Side Panel Types

	Maintenance Checklist
	Visual Drive-By Inspection
	Walk-Up Inspection

	Post Impact Instructions
	Recommended Tools
	Post Impact Procedures
	Parts Ordering

	QUEST® CEN 80 SYSTEM  TD80CEN610CU
	QUEST® CEN 100 SYSTEM  TD100CEN610CU
	QUEST® CEN 110 SYSTEM  TD110CEN610CU
	QUEST® CEN 80 ASSEMBLY 613485
	QUEST® CEN 100 ASSEMBLY  613483
	QUEST® CEN 110 ASSEMBLY 613484
	FOUNDATION (ASPHALT)  3562007-0000
	FOUNDATION (CONCRETE) 3562007-0000
	DIAPHRAGM ASSEMBLY 607196
	SUPPORT FRAME ASSEMBLY  615467
	TRIGGER ASSEMBLY 616212
	CONCRETE PAD 3562018-0000

